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2, B 5 RIFAAWHIFSHAT, FERREEFH—R, AA?

3. B 5 NERIY Unix @5, FHERER?

s BZHEBR
mkdir g HR
cd AR

mv #EIELER S
rm BIFRICE

cat BEEXHAE
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5. Eith CMOS 3F JHB58? EEERE,

DOFEERL: FSTIFAIRRSIIFEAER

SIS FFRINFEAIEESTIFE;
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Moore RS AV BN BISRE.

Mealy: JREA A H IS RIRE.
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8. Let X =8'b0001_1010, Y = 5'b10000;

a: What algorithm will you use to implement "X-Y" operation?

b: Please draw out schematic;

c: Both X and Y values are signed number. How will it be different from your

previous answer?

9. BEFETHERNED:
a: X =#5B+C;

b: X <=#5B + C;
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